
(1) (2)

答え 答え

(3) (4)

答え 答え

(5) (6)

答え 答え

80°

360-(150+70+90)=50

50°

360-(90+90+50)=130 360-(90+140+90)=40

123° 93°

式 式360-(86+67+84)=123 360-(65+112+90)=93

130° 40°

式 式

式 式360-(70+130+80)=80

計算スペース

図形の角度1
（四角形の内角）

年 組 名前（ ）

次の角度は何度ですか。計算で求めましょう。

イ

ア

８０°

１3０°

７０°

１５０° ７０°

ウ
５０°

６７°

８４°
オ

エ

１４0°

カ
50°

平行四辺形
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(1) (2)

答え 答え

(3) (4)

答え 答え

(5) (6)

答え 答え119° 130°

360-(70+130+80)=80 式 360-(150+70+90)=50

80° 50°

360-(90+90+50)=130 式 360-(90+140+90)=40

130° 40°

360-(90+67+84)=119 式
３６０-50×２＝２６０

２６０÷２＝１３０式

式

次の角度は何度ですか。計算で求めましょう。

式

図形の角度1
（四角形の内角）

年 組 名前（ ）

計算スペース

イ

ア

８０°

１3０°

７０°

１５０° ７０°

ウ
５０°

６７°

８４°
オ

エ

１４0°

カ
50°

カ
50°

平行四辺形
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